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1T Semester B.Com.\ gree Examination, March - 2022
CORPORATE ACCOUNTING - I
(CBCS Syllabus Regular)

Time : 3 Hours Maximum Marks : 80
Instructions to Candidates:

1) Attempt All questions according to internal choice.
©0308 BSodiRYmiY, wey FIner Cu3ord.

2) Use of calculator is allowed.
TOWRT, 5o, 0T LHRLITICD.

3) Q. No. 11 is compulsory (Section-D)
T3, 11 WO, & Do

SECTION - A
AR S
Answer any Ten of the following. (10x2=20)
AT atz;’:«s.)_° TINen GVZORD.
I. a) State the two features of equity capital.
AIBRT, WOBHT TR ogfamm& EPAD.
b)  What is meant by issue of debenture at premium ?
325?;3 thlaTat @a:'s’oaso’m?ag{ WERNE SRERTBonBed 9

¢) What is meant by underwriting ?

Bedd> Fetdodd) AW ORFTTTO 20BTeRd 2

[P.T.O.



IR 2)
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k)

)

What is the rate of Remuneration if one full time director ?

Ly PRSP FIFT 8 ©s Rogwssod S0 (3e83)

A

w

State the two disallowable expences when ascertining the net

managerial remuneration.

44871/C0210

dmj\d)gd ?

profit payable to

SR, eRONER ForSI Bemomon TSy AFFOND Q03T DO DFNYIY

SELER LIS AR [abY

What is interim dividend ?

OTTY oYY 0TV ?

State the three examples of intangible assets.
URRET BAINY T MBI S9AD.
What is goodwill ?

ded¢ [PY, BoTTED ?

What is superprofit ?

DITT ooy SomseRD ?

What is equation to calculate the fair value of share ?

B3NS T, 03eews3 838 Bert FomRBOIVND ? A3, WSO,

State the three examples of non-current investments.
I00° 3008 BRAFOD WD) YITIETH SVD.
What is meant by weighted average profit method.

S JooRD ooyl atpaa"i BoTBed ?
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SECTION - B
R - W

Answer any three of the following. (3x5=15)

S5 NS esas 3 [JROR LUBORD.

2.  Mysore Co. Ltd issued 1000 equity shares of Rs.10 each. The amount payable was
as follows.

Rs.1 on Application.
Rs.4 on Allotment

Rs.5 on first and final call

All the shares were subscribed and the amount was duly collected. Pass the journal
.entrie for the above.

HART g0.9. 1000 s:883 Sedonddy dr.10 0o W@NE IRAT VRIS, B3 FHNT0S
QTIII.

-2

an.l a’aq 5235 03R00N.

dn.4 z&g{ DoIFo3R0DNR

dR.5 &), 2000 B ©0d FFodeodnt [TIHD.
QQ, Jedoneh 230memedE SN T IO, ICINT.

& D0edT InwE T,50 0. We30DY BIFS 083, WS0ND.

3. X Co. Ltd. is;ued 20,000 shares of Rs.10 each. of which the shares were underwritten
as follows.

Mr. G-10,000 shares Mr.H. 6,000 shares. The public subscribed for 16,000 shares
which included marked applications as follows. Mr. G. 2,400 shares, and Mr. H. 600
sharce. Determine the liability at the underwriters.

[P.T.O.
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X 30.9. 20,000 Bedonday .10 003 wRNE WRELO BRYE HOBIETOR &
FPNT03 QeBRNT.

Mr. G. 7t -10,000 3¢co, MrH.A 6000 Setb. mrmdE womamesdd. 16000 Jeod
TR ©BEOY, WRBFE* e S 0ed 9P, Mr. G. 7§ 2400 Jecd, Mr. H. it 600 Jedd
3R POBIOD BRBMOEH Toeo JGFORD.

4. Managing Director of Shiva Sagar Ltd. is entitled to a commission of 5% on the
profits before charging such commission.

The following details are available for the year ending 31-3-2018.

1) Net profit before charging commission Rs.35,00,000/-

2)  The following had been charged off against the profits as determined above.
a) Depreciation on fixed assets 15,00,000/-
b) Provision for doutful debts 20,000/-

3)  Other relevant information

Bad debts during the year Rs.65,000/-

Calculate Managing Director remuneration at 5%.

&TTNT AT FoTIOD WR[Won FTITT Je.5 ToZ BWITR) LPE WnowWSTN
QETOTIT.

o038 31.3.2018 § 33 F¥N03 [Rbd AIT.

1) 308 3erdn @PRFEY0H @y Br.35,00,000/-

2) o0 ApFommen & NT03 8 SRTBRYTRNG.
a)  RATIANY e 3IBY 3.15,00,000/-

(&3]

b) Rogoings mons 2 IROBEI Te.20,000/-

3) 230 I :

BOYNT T© TRE IRFBE TR.65,000/- A B, JWON FTFO' QT .5 God
RO AGIFOAD.
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S. Prepare a statement of profit and loss as per part II of revised schedule VI:

a) Revenue from operation  10,00,000/-
b) Other Income 1,00,000/-
c)  Cost of sales expences 7,50,000/-

d) Employee benefit expences 1,60,000/- -
e) Tax expences 90,000/-
woes -1l O 07 A -VI 3 B50 ooy S0P T Fe3Bo0ed FadR0AD.

a) ®VTT 2WeDTLIOD eSoADH T.10,00,000/-

b) 233 @wmaod 1,00,000/-
C) BRTIMFIE DedFTied 7,50,000/-
d) A8 JOOIN D Meh 1,60,000/-
€) 301 DN ' 90,000/-

6. Calculate the amount of goodwill from the following information.

Year Profit
2014 16,000
2015 15,000

2016 20,000 5 m

2018 25.000

It is agreed that the goodwill will be valued at 3 years

purchased of average profit
of the last 5 years under simple average method. .

[P.T.O.
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B 3IPNT Ineodeodn dedF a:i:?aoiaia% om0 oy &,590 20T BCUO0.

I (opYAl
2014 16000
2015 15000 T I
% ”fgﬂ
2016 20000 B4 T
-‘ 9
2017 14000 \'wz ,_
e
"'N*‘
2018 25000

8e3F TP, DFFORTN 3 [RF DODCH RoIRD wart, ICBAWT 5 TAEFT TT
,TO0 A0RY* ©BTew X,ToT FOBIRCWD.

SECTION - C
ogen - ¥
Answer any Two of the following. (2><15=30) ,

eon 0B TZren wugdrD.

7. Ravi Co. Ltd. issued 1000 debentures of Rs.100 each at a Premium of Rs.10 per
debenture. The amount was payable as follows;

On Application Rs.20

On Allotment Rs.40 (Including premium)

On first call Rs.30

On final call Rs.20

All the debentures were subscribed and the money were duly received.

Pass the journal entries in the books of company.



DA AR AR - (7 44871/C0210

8D 80. OOEE'RY 1000 B30t 8.100 0303 BWS ¥S de.10 =8 awoscs
RRONE BRBCNGS. IS 81 FPNT0S BECHUING.

esp3radnodn TR.20

B0w303R00N TR.40 (BeF WS (2Q00HRF) Beod
Secoldod 38 dr.30

03> 33 OR.20

DQ, BUOBT TV WommERees $e3 BRARUING. 8 SoedR Bnkd B0 KFeF
085, WTOWD.

8.  Calculate the managerial remunerations. From the following particulars of Dharwad
Ltd. Due to Managing Director if the company at the rate of 5% of the profit
payable. Also determine excess remuneration if any.

Particulars Rs.
| Net profit 9,00,000
Net profit is calculated after considering the following.
Depreciation 1,00,000
Preliminary expences 30,000
Tax provision 5,10,000
Difectors fees 20,000
Bonus 40,000
Profit on sale of fixed assets 31,000
(Original cost Rs.40,000, written Doun value Rs.22,000/-)
Provision for doubtful debt 12000
Scientific Research expenditure 48000
M.D. Remuneration: 84000
Other Information:
Bonus liability as per payment of bonus Act 1965 | 40,000

[P-T.O.
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TOUTE OWUET Tnkd ©,50 =30, S0 TOLRWN TorIBOW0. m&sc‘ ddﬁc@
203 Zeson 3.5 8od NSNS, Nomaﬁ QTFORTOR Wi aﬁwﬁ R Dew’mﬁdoﬁmm
FORLACWD. B FPNS In&3 TG RTINS,

DRTRE o oR.
T oot 9.00,000

OBF Ty APFOROTN B8 FINT0Z e SRTOERYING.

R399 1,00,000
TPRFD B3[ISH 30,000
30% AR 5,10,000
BO80° eenehd 20,000
3RS . 40,000
A0oRTY [RONIT T | 31,000

(S DOed 8r.40,000, I[F9 To3TW HeE Tr.22,000/-)

NOXTCIOZT :saoﬁa QONLL 12,000
353908 RoBRerS N0 | 48,000
SR Feson FTTO* Foyowms BRLIE) 84,000
Q3T @Iodod:

WBRER 59033 1965 O B5od Wesy’ Temnedd #eg 40,000
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9. Tollowing is the trial balance of Hubballi Ltd. on 31-3-2019 @/L{Z ©
( Particulars Debit Crec
Subscrﬁd capital (50,000 shares of Rs.10 cach) -- 5,00,0
Calls in Arrcars )-{9256‘@ 7500
General Reserve - 20.0
Profit and loss A/c 4’1 8860 - 32.50
Bank A/c 35,650
Sundry debtors 4 96 5 0 87,000
Reserve for doubtful debts -- 4,3
Sundry creditors - 83,0(
Goodwill 20,000
Building 4.,00,000
Machinery 3,30,000
Furniture 7,200
Depreciation on machinery -- 33.0(
Investment 47,500
Preliminary exp 4,500
12% Debenture = | 3,00,0¢
Outstanding Int on debenture - 14,0(
Loans and advances 42,500
Closing stock 5,000
Total 9,86,850 9,86,85

Prepare balance sheet in vertical format.

P.
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TR €0.0. WOIWE ERldomn Omeot 31-3-2019 ¢ wodmnecEed IEC.
25w 20 Debit el
Ao, g=.
ToSTeIRT worsk (50,000 e0s Ta.10053) = 00
b B 7500 -
FETE, TN - 20,000
S-3=n smEnes s 32.500
3,07 Yoo 35.650 -
RO 87.000 -
TBARRT OT DO = 4350
skt - 83000
Zvmmats 20000 -
o 4,00,000 --'2,
Ci08, eTBTETIED 3.30.000 --\é‘_‘
OTETTIE (FDF 2307 7.200 ~
o2, 7ie SoedT BITE - 33,000
I 47500 -
TRTF L SNBFTED 4500 -
| 12% avodmcds | ~  3,00,000
BUCECmRO0 Sx0F W, e - 14000
e TRy 0N 42500 -
adcs> den) 5000 -
x5 9.86.850  9.86.850
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10. The following is the balance sheet of Helpline Ltd. as on 31-3-2019
Particulars Note Amt Rs.  Total Rs.
[  Equity and liabilities:
1. Share holders fund

i) Share capital ] 4,00,000
' ii) Reserve & Surplus 2 3.10.000  7,10,000
2. Non Recurring liabilities 3 1,00,000
3. Current liabilities: Trade Payable 4 1,30,000
Total 9,40,000
I  Assets:

1 Non-current Assets:

Tangible fixed assets 5 5,00,000
Intangible fixed assets 6 40,000 5.,40,000
2. Current Assets: Trade Receivable 7 4.00,000 4,00,000
Total | ~9,40,000
Notes to A/c
Note No.l : Share capital:
40,000 equity shares of Rs.10 each fully 4,00,000
Paid up —4,00,—000
Note No.2 : Reserve and surplus:
General Reserves . 1,96?000
Profit as per P&L Alc 1,20,000

3,10,000

[P.T.O.
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Note No.3 : Long term borrowings
14% debentures 11,00,000
1,00,000 _
Note No.4 : Frade payables : &y
. 2 m
!
Creditors | | 1,30,000 73
NN
1,30,000
Note No.5 : Tangible Assets : 5,00,000
Plant and machinery ' 5,00,000
Note No.6 : Intangible assets:
Goodwill 40,000
40,000
Note No.7 : Current Assets
Debtors | 4,00,000
400,000

Additional information:

: On the above mentioned date the tangible assets were independenty valued at
© Rs.3,50,000 and goodwill at Rs.50,000/-. The net profits for the three year were
2016 - Rs.1,30,200, 2017 - Rs.1,04,000 and 2018 - Rs.1,03,300 of which 20%
transfer to general reserve, Normal rate of Return is at 18%. Determine the val ;
share on 1) Net Asset Method 2) Yield Method 3) Fair Value Method e
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31-3-2019 ?.3: .:"55,‘:’:: 9. =3 33 =LA
[TTMR0 Note  AmtRs. Total Rs.

%
¢
g
a
27
£y
|
&

1) 3D woES 1 4,00,000

1) D DR s 2 3.10.000 7,10,000

()

;5° Osoon ETJNWOND 3 1,00,000

(2

=9 =T 0nsh:

mc_md ﬁ.@o&&@%@a’ OnH 4 1,30,000
2830, 9,40,000
1 LT =K

1 o0° 33082 es?}ri@b:

neass :-!é‘cmsjriﬁa 5 5.00,000
STaToN ko] %m@ﬁm 6 40,000 5,40,000

2. W9 SANSO:

R,70 43,3 OND 7 400000  4,00,000
XS] 9,40,000

[P.T.O.
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BERN [EFOD TLINTL.
K wﬁwté 1 : 3e3d WOBTY:
40000 S3383 Fedd Tn.10 To3 4,00,000

—_———

TPIF OO 4,00,000

]

w:;fé 20 20 R o:

mmsj 20 1,90,000
o3 E0B) Tod AT 1,20,000
3,10,000

© BT 3 QEPRFER TONTY
14% 2230230om0 | 1,00,000

1,00,000

R 4 ¢ BT Sodwe,

PAptiseLplelew) 1,30,000
WIZed 5 1 ReedS ATIAN 5,00,000
03003, eTFTEINTO | 5,00,000

TN 6 : nineldo eﬁ@ﬁ%‘b:

3‘@3?@@5 40,000
40,000
w"u:té 7 : WP SANEL

BREG 4,00,000

4,00,000
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A SNSRI

Nt AT QRN A e a3, 50,000 \% xortle Gr\lr‘aﬁv‘c;* tre 50,000/ !{
SN NS

o s ~ o X W ; o > - 2 \
SRF ITEIR @ A0 Qe Qened e e ws,

s A SMUN S TRRY QA Frvraehas. nedad moslng, cId 81K ade,

\ oy ::‘th:ail |/ ANT QRN Iwd Qgderdad,

U ISF 2 QT ) avdad el 3) SENSMERS LS VEON (Yot e, LEod)
SECTION - D
QWR - @

Case study (compulsory) (1%15=185)

wmoh =3¢
= - X

The Belagavi Company Ltd. invested Rs. 100,000/~ and the notmal profit caring is at
[0%. The company camed profit in the last 4 years were

2015 - Rs20.000
2006 - Rs30.000
2017 - Rs40.000
2018 - Rs.10.000

N

The company values the goodwill under the tollowing cases.

g) Case-l - 4 years average profit

b} Case-2 - 4 vears super profit

Findout the value of goodwill in each case and which of the goodwill you accept and

[PT.O.



) A 44871/C0210

O BImo 0= OMWHE ©8r.1.00.000/- = 5 ey o0 WRRY N
waﬁma ge.10 ad. 8 FoTRAIN ooyl By TN IS 4 "SR, 8 F9Nod
03,

¢

2015 - ©».20,000

2016 - 3».30,000
2017 - $».40,000
2018 - T».10,000

3 NI ROTPEAVE, FomRoH TTHoD [P, Bz 0eECIRNT.
a) R0l - 4 JHENY IooWO YT LHITH e
b) =3S0-2 - 4 BRAAY ARV S LEST BHoed

e SPAT ROTFE, Bicieomd Mmeh =P, ToRLRCWD. HK IR

"305533 u&wémeé%aa ? DB ? DWOAD.
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